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1001 Compulsory English -l (B.A) (Home Science)

Time: One Hour

Instructions

e Solve any 25 questions from Q1 to Q30

e Solve any 25 questions from Q31 to Q60

1 Who is the writer of the Happy Prince story?
(A)Khushwant Singh
2 Why was the Prince called happy?

(A)Because he never cried

3 Oscar Wilde was born in

(B)R.K. Laxman

(B)Because he was very lucky
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(C)Oscar Wilde

(C)Because he had everything

(A)Dublin (B)Wessex (C)London

4  Who has the habit of always instructing the child?

(A)Adolescents (B)Grown-ups (C)Mothers

5 Who is the writer of ‘Good Manners’?

(A)Oscar Wild (B)Ruskin Bond (C)M.K. Gandhi
6 Good Manners is an essay taken from

(A)An Introduction to Citizenship (B)The Home and the world (C)Citizen of the World
7 J.C Hills wants to make life easy for elders

(A)Boys and girls (B)Adults (C)People

8 Who is the author of the story “The Eyes Are Not Here™?

(A)APJ Abdul Kalam (B)Langston Hughes (C)Leo Tolstoy
9 Where was the narrator going by train?

(A)Saharanpur (B)Mussoorie (C)Rohana

10 According to the girl, Mussoorie is very beautiful especially in the month of

(A)December (B)November (C)September
11 the narrator was all alone in the train compartment up to —

(A)Dehra (B)The station next to Rohana (C)Rohana

12 The girl in the story ‘The Eyes Are Not Here” was wearing

(A)Slippers (B)Shoes (C)A skirt

13 According to Ruskin Bond, people with good eyesight often fall to see

(A)What is chasing them.

14 According Ruskin Bond few girls can resist —

(B)In which situation they are.

(A)Flattery (B)Curiosity (C)Hunger

15 Forgetting an essay is written by

(A)J.C. Hill (B)Charles Lamb (C)Robert Lynd
16 Robert Lynd has described about

(A)Forgetting (B)Driving (C)Playing

17 Forgetting is predominantly found in

(A)Childhood (B)Yong age (C)Adulthood
18 the commonest form of the forgetfulness is

(A)Posting letters (B)Taking medicine (C)Travelling
19 Absent mindedness is sometimes called

(A)Virtue (B)Vices (C)Remedy

20 People forget things because

(A)It is their right (B)They wish to forget (C)None of these
21 most absent minded are

(A)Farmers (B)Poets (C)Laborers
22 writer’s wonder regarding human memory as

(A)Forgetfulness (B)Efficiency (C)Inefficiency
23 Who are supposed to be the most imaginative men?

(A)Anglers’ (B)Fighters (C)Players

24 Who wrote the story The Home Coming?

(A)R. K. Narayan (B)Raja Rao (C)Anita Desai

25 The Home Coming is a story about
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(C)What is right in front of them.

Max. Marks: 50

(D)Ruskin Bond

(D)Because he always smiled and was

living in palace of happiness

(D)Scotland

(D)Parents

(D)1.C. Hill

(D)My experiments with truth

(D)None of these

(D)Ruskin Bond

(D)Dehra.

(D)October.

(D)The station before Rohana

(D)A sweater

(D)Goodness.

(D)Talking

(D)None of these

(D)Reading

(D)None of these

(D)None of these

(D)None of these

(D)Both A and B

(D)Housewives

(D)Powerful

(D)None of these

(D)Rabindranath Tagore
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(A)OId age (B)Adolescent age

26 Rabindranath Tagore was born

(A)1850 (B)1861

27 In this world of human affairs there is no worse nuisance than a boy at the age of
(A)Six (B)Eighteen

28 Which is the central character in the story of ‘The Home Coming’?
(A)Pathik Chakravarti (B)Makhan

29 Pathik’s Mother sent him with his uncle to-------------- for education
(A)Calcutta (B)Bombay

30 Rabindranath Tagore was awarded by Nobel prize in

(A)1910 (B)1913

31 Who wrote the poem One Day I wrote Her Name?

(A)William Shakespeare (B)Robert Burns
32 Edmund Spenser was best known for the ling epic poem
(A)The Faerie Queen (B)Paradise Lost

33 the narrator was all alone in the train compartment up to —

(A)Rohana (B)The station next to Rohana
34 Sonnet is a poem of--------- lines

(A)14 (B)13

35 The theme of the poem One Day I wrote Her Name is about
(A)Unmorality (B)Immortality

36 Who is the poet of the Poem ‘Ode on Solitude?’

(A)William Wordsworth (B)John Keats

37 Where does the happy man live according to Alexander Pope?
(A)In Forest (B)In towns
38 How is the content of the poem Ode on Solitude?

(A)To live peacefully (B)To live with comfort

39 who gives him bread?

(A)Market (B)His field

40 A happy man’s wants are satisfied by the property inherited by him from his
(A)uncle (B)Mother

41 Who wrote the poem ‘If’

(A)Rudyard Kipling (B)Rabindranath Tagore

42 Rudyard Kipling advices us to be

(A)Strict. (B)Lazy.

43 In ‘If” Kipling advises us to keep our head

(A)Excited (B)Angry

44 In ‘If*, others are found to blame us for there

(A)Achievement (B)Credit

45 Those who distort our statements are---

(A)Knaves (B)Cheaters

46 Who wrote the poem “My Love is Like Red, Red Rose”

(A)John Keats (B)PB Shelly

47 “My Love is like Red Red Rose is

(A)Simile (B)Personification

48 What is the theme of “My Love is Like Red Red Rose”?
(A)Permanent Love (B)Nature

49 Most of Burn’s poems were written in------------ dialects

(A)Scottish (B)Irish

50 “Stopping by Woods on a Snowy Evening” is a poem by Robert Frost written in:
(A)1948 (B)1922

51 Robert Frost was and poet.

(A)British (B)American

52 Sachin is clever student (Identify the Parts of speech underlined word)
(A)Adjective (B)Verb

53 which of the following is an adverb?

(A)Short (B)Smart

54 Identify the sentence that does not have an adjective.
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(C)Adult age

(C)Bishambar

(C)Dehra

(C)1914

(C)William Blake

(C)Rape of the Lock

(C)Dehra

(©)12

(C)Mortality

(C)Alexander pope

(C)In his native land

(C)To live with luxury

(C)Farmer

(C)Cousin

(C)John Keats

(C)active

(C)Cool

(C)Failure

(C)Agents

(C)Robert Burns

(C)Parody

(C)Sorrow

(C)British

(C)Adverb

(C)Quickly

(D)None of these

(D)1941

(D)fourteen

(D)None of these

(D)Hyderabad

(D)1915

(D)Edmund Spenser

(D)None of these

(D)The station before Rohana

(D)10

(D)None of these

(D)S.T. Coleridge

(D)None of these

(D)None of these

(D)None of these

(D)Father

(D)Raja Rao

(D)Steady

(D)Normal

(D)Fame

(D)Scoundrels

(D)None of these

(D)None of these

(D)None of these

(D)None of these

(D)1935

(D)Indian

(D)Noun

(D)Clever
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(A)The small dog bark. (B)Can we play cricket? (C)She had red scarf.
55 Which of the following is a preposition?

(A)Can (B)Water (C)Might
56 Which of the following is not pronoun?

(A)He (B)She (Ot

57 Which of the following is proper noun?

(A)Give (B)Fear (C)Student
58 Which of the following is Conjunction?

(A)And (B)At (C)On

59 Identify the interjection from the following words.

(A)Oh! (B)Or (C)But

60 Find out the verb in the following words.

(A)Run (B)Who (C)Loin
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(D)She is beautiful.

(D)After

(D)Beauty

(D)London

(D)Over

(D)When

(D)Fast



